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O K S (oK KRR H A

B FISHE
ﬁ I H 4 | fr|iwem| 448 [5H23H[6H15H (THISH| 8H1H |9H21H|10A10H|11A16H|12A19H| 1H9H | 2H1H [3H14H
1| i “H L | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 |k i B o P B S B ST R S B ST R S h 3| B ST R i 3 B ST R ash 3 Bt S 9| i iash 3
3P RIT LK OE DA W me/L | 0.003 [0.000374i — — 0.0003 A — — 0.0003 A — — 0.0003 A7 — —
4Pk ] Kk OV & O b & | me/L | 0.0005 [0.00005A — — 0.00005 A5 — — 0.00005 A5 — — 0.00005 4} — —
5l v v B % ok & | mgL |0.01[0.001K5| — —  |0.001KTm|  — —  |0.001Kdm|  — —  |0.001Kim|  — —
6l6h & O = © fb A B| me/ |0.01 [0.0014K| — —  |0.0014K0m| — —  |0.0014K0m|  — —  |0.0014K0m| — —
7l F & O % o b & | meL |0.01 |0.001K7| — —  |0.0014K%| — —  |0.0014K%| — —  |0.0014K%| — —
gl~ i 7 = & fk A W] megL | 0.02[0.002K0|  — —  |0.002AKm|  — —  [0.002Am|  — —  |0.002Am|  — —
9 |# A e f& % K| meg/L [0.04[0.004K7| <~ — —  [0.004Fm| — —  [0.004FGm| — —  |0.0044T|  — —
10| 7o 1ea4 v ROy 72| me/l | 0.01 [0.0014H| — —  |0.001AKw| — —  |0.001ATw| — —  |0.001A| — —
11 |l e fe e 5 R O 0 A 9 2 % F| me/l | 10 0.6 — — 0.6 — — 0.5 — — 0.5 — —
1207 v F K % 0 fb & P megl | 0.8 | 0.26 — — 0.20 — — 0.26 — — 0.27 — —
BIR D #F kO Z 0 & B me/ | 1.0 | 0.1K7 — — 0. 1 A1t — — 0. 1 At — — 0. 1A — —
14| # 1t 7% | mg/L | 0.002 [0.000247 — — 0.0002 A1 — — 0.0002 A7 — — 0.0002 A7 — —
15|14~ v A %  H | megL |0.05]0.005567 — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
w6 2 R T ] e | 0,04 Jo.0oaskil| — —  |0.004Kd|  — —  |0.004Kd|  — —  |o.0045ki|  — —
171 7 v v A % | mg/L |0.020.002KM| — —  |0.002HKMm| — —  |0.002HKm| — —  |0.002A|  — —
187 7 7287 = F L o mgr |0.01]0.000K «—— —  |0.001KTw|  — —  |0.001KTw|  — —  |0.001KTw|  — —
9|F vV 7 v v = F L | mgl |0.010.001F7 — —  |0.001Km| — —  |0.001Km| — —  |0.001Km| — —
20 | > N | mg/L | 0.01]0.001K5| — —  |0.001AKm| — —  [0.001AKmi| — —  |0.001A| — —
21 |H =S 2| me/L | 0.6 | 0.06A — — 0.06 A1 — — 0.06Aifi — — 0.06 A7 — —
227 = e M| me/L | 0.02[0.002455| — —  |0.002A4w|  — —  |0.002A4w|  — —  |0.0024Tw|  — —
237 v v &k o | mer [0.06] 0.002 — — 0.009 — — 0.006 — — 0.002 — —
241y 7 9w v EE BBl me/L |0.03]0.003K5| — — 0.004 — — 0.004 — —  |0.003Am| — —
251 7 v 7 moo A& mgL | 0.1 |0.00K7|  — —  |0.001AKmi| — —  [0.001AKmi| — —  |0.001Am| — —
26 |2 # M| me/L | 0.01 [0.001AK0| — —  [0.001HGm| — —  [0.001#0m| — —  |0.0014Tw|  — —
27l ~ U o~ m 2 % | mgL | 0.1 ] 0.002 — — 0.011 — — 0.009 — — 0.003 — —
28| U 7w v EE BB me/L |0.03]0.003K5|  — — 0.007 — — 0.006 — —  |0.003Am| — —
297 v & ¥ 7 w2 o mel 00300014 — — 0.002 — — 0.003 — — 0.001 — —
307 = = & o A mer [0.09]0.0014 0 — —  |0.001AKm| — —  |0.001KMm| — —  |0.001Am| — —
3lfx v & 7 A F v F| meL |0.08[0.008K0 < — —  |0.008K¥m|  — —  |0.008K¥m|  — —  |0.008Kim|  — —
3208 #4 & O = © fb A | megL | 1.0 | 0.05A — — 0.05A1if — — 0.05Aif — — 0.05A i — —
BT A=V ALK OZDEY| me/ | 0.2 | 0.02 — — 0.06 — — 0.05 — — 0.02A1i — —
34|18 & O = o b A& | meL | 0.3 | 0.03K7 — — 0.03 A1 — — 0.03 A1 — — 0.03 A1 — —
3Bl K T o L A& B me/l | 1.0 | 0.055KT — — 0.05A1ifi — — 0.05A1if — — 0.05A1ifi — —
36[F RV Y LK OE DAL A W] me/L | 200 6.9 — — 5.2 — — 6.0 — — 6.3 — —
37|l v 7 v k0% ot & ¥ me/L | 0.05|0.006A| — —  |0.005Am| < — —  |0.005Am| — — 0.008 — —
B b W A4 A | me/L | 200 6.5 5.0 | 5.0 5.6 5.3 5.0 A 6.3 5.0 | 5.0AK7 5.9 5.0 A3 5.1
39 vy, w7 ke % ()| me/L | 300 41 — — 30 — — 37 — — 41 — —
401 % % ® | mg/L | 500 74 — — 66 — — 74 — — 71 — —
41 4 A » R m & % Al meL | 0.2 | 0.02575 — — 0.02Aifi — — 0.02Aifi — — 0.02Aifi — —
2 = A A =2 > mg/L | 0.00001 |0.00000154i | 0.000001 i [ 0.000001 A | 0.0000014 | 0.000001 | 0.000001 | 0.000001 — — 0.000001 A:Jis — —
4312 — AF )V AV R )L R A — L] meg/L | 0.00001 |0.00000177% [ 0.000001 743 [ 0.000001 47 | 0.00000 143 | 0.000001K3 | 0.000002 | 0.000001 — — 0.00000 1 A3 — —
443 « A v /o3& M Al me/L | 0.02 [0.005HK| — —  |0.005K%| < — —  |0.005K%| < — —  |0.0055K4m| — —
4517 = 7 — b | mg/L |0.005[0.0005A7H; — — 0.0005 A — — 0.0005 A — — 0.0005 A7 — —
46|65 B ® ( TOC ©» B )| mg/L | 3 0.5 0.6 0.6 0.8 0.6 0.7 0.7 0.5 0.6 0.4 0.6 0.5
47]p H fi RN 7.5 7.3 7.5 7.6 7.5 7.5 7.4 7.7 7.4 7.1 7.3
48 Bk RO BEZRL | BEleL | B | BEeL | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BERL
49 |5 & FOY BEAL | BEARL | BERL | BEeL | BERL | BERL | REAL | BEARL | BEAL | BEAL | BEARL | BEL
50 [ s 5 LA LA IEST LA LA LA LA LA IEST IEST| LA LA
51| E| B 2 | O.1KW | O | 0.1 | O.1ARW | O.1K% | 0.1 | 0.15K%W | O.1ARWM | 0.15KW | 01N | 0.1K%m | 0.1

% £ i #| me/t [owr] 0.5 0.5 0.5 0.6 0.6 0.6 0.6 0.5 0.5 0.5 0.5 0.6
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B FISHE
ﬁ I H 4 | fr|iwem| 448 [5H23H[6H15H (THISH| 8H1H |9H21H|10A10H|11A16H|12A19H| 1H9H | 2H1H [3H14H
1| i “H L | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 |k i B o P B S B ST R S B ST R S h 3| B ST R i 3 B ST R ash 3 Bt S 9| i iash 3
3P RIT LK OE DA W me/L | 0.003 [0.000374i — — 0.0003 A — — 0.0003 A — — 0.0003 A7 — —
4Pk ] Kk OV & O b & | me/L | 0.0005 [0.00005A — — 0.00005 A5 — — 0.00005 A5 — — 0.00005 4} — —
5l v v B % ok & | mgL |0.01[0.001K5| — —  |0.001KTm|  — —  |0.001Kdm|  — —  |0.001Kim|  — —
6l6h & O = © fb A B| me/ |0.01 [0.0014K| — —  |0.0014K0m| — —  |0.0014K0m|  — —  |0.0014K0m| — —
7l F & O % o b & | meL |0.01 |0.001K7| — —  |0.0014K%| — —  |0.0014K%| — —  |0.0014K%| — —
gl~ i 7 = & fk A W] megL | 0.02[0.002K0|  — —  |0.002AKm|  — —  [0.002Am|  — —  |0.002Am|  — —
9 |# A e f& % K| meg/L [0.04[0.004K7| <~ — —  [0.004Fm| — —  [0.004FGm| — —  |0.0044T|  — —
10| 7o 1ea4 v ROy 72| me/l | 0.01 [0.0014H| — —  |0.001AKw| — —  |0.001ATw| — —  |0.001A| — —
11 |l e fe e 5 R O 0 A 9 2 % F| me/l | 10 0.6 — — 0.6 — — 0.5 — — 0.5 — —
1207 v F K % 0 fb & P megl | 0.8 | 0.26 — — 0.20 — — 0.28 — — 0.27 — —
BIR D #F kO Z 0 & B me/ | 1.0 | 0.1K7 — — 0. 1 A1t — — 0. 1 At — — 0. 1A — —
14| # 1t 7% | mg/L | 0.002 [0.000247 — — 0.0002 A1 — — 0.0002 A7 — — 0.0002 A7 — —
15|14~ v A %  H | megL |0.05]0.005567 — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
w6 2 R T ] e | 0,04 Jo.0oaskil| — —  |0.004Kd|  — —  |0.004Kd|  — —  |o.0045ki|  — —
171 7 v v A % | mg/L |0.020.002KM| — —  |0.002HKMm| — —  |0.002HKm| — —  |0.002A|  — —
187 7 7287 = F L o mgr |0.01]0.000K «—— —  |0.001KTw|  — —  |0.001KTw|  — —  |0.001KTw|  — —
9|F vV 7 v v = F L | mgl |0.010.001F7 — —  |0.001Km| — —  |0.001Km| — —  |0.001Km| — —
20 | > N | mg/L | 0.01]0.001K5| — —  |0.001AKm| — —  [0.001AKmi| — —  |0.001A| — —
21 |H =S 2| me/L | 0.6 | 0.06A — — 0.06 A1 — — 0.06Aifi — — 0.06 A7 — —
227 = e M| me/L | 0.02[0.002455| — —  |0.002A4w|  — —  |0.002A4w|  — —  |0.0024Tw|  — —
237 v v &k v | mer [0.06] 0.004 — — 0.017 — — 0.011 — — 0.003 — —
241y 7 9w v EE BBl me/L |0.03]0.003K5| — — 0.004 — — 0.005 — —  |0.003Am| — —
251 7 v 7 moo A& mgL | 0.1 |0.00K7|  — —  |0.001AKmi| — —  [0.001AKmi| — —  |0.001Am| — —
26 |2 # M| me/L | 0.01 [0.001AK0| — —  [0.001HGm| — —  [0.001#0m| — —  |0.0014Tw|  — —
271 ~ U o~ m 2 % | mgL | 0.1 | 0.006 — — 0.021 — — 0.015 — — 0.005 — —
28| U 7w v EE BB me/L |0.03]0.003K5|  — — 0.012 — — 0.009 — —  |0.003Am| — —
297 = & ¥ 7w AKX 2 mg/L |0.03] 0.002 — — 0.004 — — 0.004 — — 0.002 — —
307 = = & o A mer [0.09]0.0014 0 — —  |0.001AKm| — —  |0.001KMm| — —  |0.001Am| — —
3lfx v & 7 A F v F| meL |0.08[0.008K0 < — —  |0.008K¥m|  — —  |0.008K¥m|  — —  |0.008Kim|  — —
3208 #4 & O = © fb A | megL | 1.0 | 0.05A — — 0.05A1if — — 0.05Aif — — 0.05A i — —
BITAI=v LR OZEOE Y| me/L | 0.2 | 0.02475 — — 0.07 — — 0.05 — — 0.02 A3 — —
34|18 & O = o b A& | meL | 0.3 | 0.03K7 — — 0.03 A1 — — 0.03 A1 — — 0.03 A1 — —
3Bl K T o L A& B me/l | 1.0 | 0.055KT — — 0.05A1ifi — — 0.05A1if — — 0.05A1ifi — —
36[F RV Y LK OE DAL A W] me/L | 200 6.7 — — 5.3 — — 5.9 — — 5.9 — —
37|~ v # v k% oAt & | mg/L |0.05|0.005HK — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
8l b ¥ 4 A | me/L | 200 6.5 5.1 5.2 5.6 5.8 5.6 6.3 5.1 5. 04 i 5.9 5.0 | 5.0A
39 vy, w7 ke % ()| me/L | 300 40 — — 31 — — 36 — — 38 — —
401 % % ® | mg/L | 500 74 — — 62 — — 71 — — 75 — —
41 4 A » R m & % Al meL | 0.2 | 0.02575 — — 0.02Aifi — — 0.02Aifi — — 0.02Aifi — —
2 = A A =2 > mg/L | 0.00001 |0.00000154i | 0.000001 i [ 0.000001 A | 0.0000014 | 0.000001 | 0.000001 | 0.000001 — — 0.000001 A:Jis — —
4312 — AF L A VIR )L A — | mg/L | 0.00001 [0.00000151 | 0.00000153 | 0.000001 5 | 0.00000155 | 0.000001 | 0.000002 | 0.000001 — — 0.000001 A5 — —
443 « A v /o3& M Al me/L | 0.02 [0.005HK| — —  |0.005K%| < — —  |0.005K%| < — —  |0.0055K4m| — —
4517 = 7 — b | mg/L |0.005[0.0005A7H; — — 0.0005 A — — 0.0005 A — — 0.0005 A4 — —
46|65 B ® ( TOC ©» B )| mg/L | 3 0.4 0.6 0.7 0.7 0.7 0.8 0.6 0.5 0.5 0.5 0.5 0.6
47 o H fiE ~5'88.6 7.2 7.6 7.6 7.5 7.6 7.5 7.7 7.6 7.7 7.5 7.2 7.3
48 Bk RO BEZRL | BEleL | B | BEeL | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BERL
49 |5 & FOY BEAL | BEARL | BERL | BEeL | BERL | BERL | REAL | BEARL | BEAL | BEAL | BEARL | BEL
50 [ s 5 LA LA IEST LA LA LA LA LA IEST IEST| LA LA
51| E| B 2 | O.1KW | O | 0.1 | O.1ARW | O.1K% | 0.1 | 0.15K%W | O.1ARWM | 0.15KW | 01N | 0.1K%m | 0.1
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BTN S E
g H H 4 W pr el 4H4H |5H23H|6H15H|7TH18H | 8HA1H [9H21H|10H10B|11H16B|12H198| 1H9H | 2H1H |3H14H
1| i %Ea L | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 |k i B o P B S B ST R S B ST R S h 3| B ST R i 3 B ST R ash 3 Bt S 9| i iash 3
3P RIT LK OE DA W me/L | 0.003 [0.000374i — — 0.0003 A — — 0.0003 A — — 0.0003 A7 — —
4Pk ] Kk OV & O b & | me/L | 0.0005 [0.00005A — — 0.00005 A5 — — 0.00005 A5 — — 0.00005 4} — —
5l v v B % ok & | mgL |0.01[0.001K5| — —  |0.001KTm|  — —  |0.001Kdm|  — —  |0.001Kim|  — —
6l6h & O = © fb A B| me/ |0.01 [0.0014K| — —  |0.0014K0m| — —  |0.0014K0m|  — —  |0.0014K0m| — —
7l F & O % o b & | meL |0.01 |0.001K7| — —  [0.0014m| — —  [0.0014m| — —  |0.0014K%| — —
gl~ i 7 = & fk A W] megL | 0.02[0.002K0|  — —  |0.002AKm|  — —  [0.002Am|  — —  |0.002Am|  — —
9 |# A e f& % K| meg/L [0.04[0.004K7| <~ — —  [0.004Fm| — —  [0.004FGm| — —  |0.0044T|  — —
10| 7o 1ea4 v ROy 72| me/l | 0.01 [0.0014H| — —  |0.001AKw| — —  |0.001ATw| — —  |0.001A| — —
11 |l e fe e 5 R O 0 A 9 2 % F| me/l | 10 0.7 — — 0.8 — — 0.9 — — 0.6 — —
1207 v F K % 0 fb & P megl | 0.8 | 0.26 — — 0.24 — — 0.25 — — 0.23 — —
BIFE T FE LK OZ o0 A P mg/L | 1.0 | 01K — — 0. 1 A1t — — 0. 1 At — — 0. 1A — —
14| # 1t 7% | mg/L | 0.002 [0.000247 — — 0.0002 A1 — — 0.0002 A7 — — 0.0002 A7 — —
15|14~ v A %  H | megL |0.05]0.005567 — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
w6 2 R T ] e | 0,04 Jo.0oaskil| — —  |0.004Kd|  — —  |0.004Kd|  — —  |o.0045ki|  — —
171 7 v v A % | mg/L |0.020.002KM| — —  |0.002HKMm| — —  |0.002HKm| — —  |0.002A|  — —
187 7 7287 = F L o mgr |0.01]0.000K «—— —  |0.001KTw|  — —  |0.001KTw|  — —  |0.001KTw|  — —
9|F vV 7 v v = F L | mgl |0.010.001F7 — —  |0.001Km| — —  |0.001Km| — —  |0.001Km| — —
20 | > N | mg/L | 0.01]0.001K5| — —  |0.001AKm| — —  [0.001AKmi| — —  |0.001A| — —
21 |4 =3 | me/L | 0.6 | 0.06K7; — — 0.06 At — — 0.09 — — 0.06 A — —
227 = e M| me/L | 0.02[0.002455| — —  |0.002A4w|  — —  |0.002A4w|  — —  |0.0024Tw|  — —
23 = = & 4 A mgL |0.06]0.0014 0 — —  |0.001Km| — —  |0.001Km| — —  |0.001Km| — —
241y 7 9w v EE BBl me/L |0.03]0.003K5| — —  |0.003ATm|  — —  |0.003ATw| — —  |0.003ATw| — —
251 7 v 7 moo A& mgL | 0.1 |0.00K7|  — —  |0.001AKmi| — —  [0.001AKmi| — —  |0.001Am| — —
26 |2 # M| me/L | 0.01 [0.001AK0| — —  [0.001HGm| — —  [0.001#0m| — —  |0.0014Tw|  — —
27l ~ U N m 2 & | mgL | 0.1 |0.001KT| — — |0.0014Tm|  — —  |0.0014KTm|  — —  |0.0014K0m|  — —
28| U 7w v EE BB me/L |0.03]0.003K5|  — —  |0.003Aw| — —  [0.003Aw| — —  |0.003Aw| — —
29|77 v & ¥ 7 mouo A% omg |0.03]0.00K7  — —  |0.001AKmi| — —  [0.001AKmi| — —  |0.001A| — —
307 = = & o A mer [0.09]0.0014 0 — —  |0.001AKm| — —  |0.001KMm| — —  |0.001Am| — —
3lIR v & 7 v F b R| mg/L [0.08[0.008 K5 — —  |0.008AJw|  — —  |0.008AJw|  — —  |0.008F&m| < — —
3208 #4 & O = © fb A | megL | 1.0 | 0.05A — — 0.05A1if — — 0.05Aif — — 0.05A i — —
BT AI=T AR OZEDLE Y| me/L | 0.2 | 0.02K75 — — 0.02 A i — — 0.02 A5 — — 0.02Aifi — —
34|18 & O = o b A& | meL | 0.3 | 0.03K7 — — 0.03 A1 — — 0.03 A1 — — 0.03 A1 — —
3Bl K T o L A& B me/l | 1.0 | 0.055KT — — 0.05A1ifi — — 0.05A1if — — 0.05A1ifi — —
36[F RV Y LK OE DAL A W] me/L | 200 7.1 — — 5.5 — — 6.2 — — 6.3 — —
37|~ v # v k% oAt & | mg/L |0.05|0.005HK — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
sl kb 4 A | mgL | 200 5.3 5.0 | 5.0K0M | 5.0 AT 5.1 5.3 5.2 5.0 | 5.0K0M | 5.0 | 5.04m | 5.0
39 vy, w7 ke % ()| me/L | 300 47 — — 38 — — 46 — — 46 — —
401 % % ® | mg/L | 500 81 — — 81 — — 96 — — 80 — —
41 4 A » R m & % Al meL | 0.2 | 0.02575 — — 0.02Aifi — — 0.02Aifi — — 0.02Aifi — —
421> = X A 2 | mg/L | 0.00001 |0.000001 35 — — 0.000001 A5 — — 0.000001 A5 — — 0.000001 A7 — —
4312 — AF VA VIRV R A — 1| mg/L | 0.00001 |0.000001 A — — 0.000001 35 — — 0.000001 35 — — 0.000001 3% — —
443 « A v /o3& M Al me/L | 0.02 [0.005HK| — —  |0.005K%| < — —  |0.005K%| < — —  |0.0055K4m| — —
4517 = 7 — b | mg/L |0.005[0.0005A7H; — — 0.0005 A — — 0.0005 A — — 0.0005 A4 — —
466 B  ( TOC ©» £ )| megL | 3 0.4 0.4 0.4 0.4 0.3 0.3 0.3 0.3 1ii 0.3 0.35K0 | 0.3 0.4
47 o H fiE ~5'88.6 7.2 7.1 7.0 7.0 7.0 7.0 7.0 7.2 7.1 7.1 7.1 7.2
48 Bk RO B | B | BEeL | Bl | BElel | Bl | BERL | BERL | BERL | Bl | BEeL | BEiL
49 |5 & FOY BEAL | BEARL | BERL | BEeL | BERL | BERL | REAL | BEARL | BEAL | BEAL | BEARL | BEL
50 [ s 5 LA LA LA LA LA LA LA LA LA IEST| LA LA
51| E| B 2 | O.1KW | O | 0.1 | O.1ARW | O.1K% | 0.1 | 0.15K%W | O.1ARWM | 0.15KW | 01N | 0.1K%m | 0.1
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B FISHE
ﬁ I H 4 | fr|iwem| 448 [5H23H[6H15H (THISH| 8H1H |9H21H|10A10H|11A16H|12A19H| 1H9H | 2H1H [3H14H
1| i “H L | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 |k i B o P B S B ST R S B ST R S h 3| B ST R i 3 B ST R ash 3 Bt S 9| i iash 3
3P RIT LK OE DA W me/L | 0.003 [0.000374i — — 0.0003 A — — 0.0003 A — — 0.0003 A7 — —
4Pk ] Kk OV & O b & | me/L | 0.0005 [0.00005A — — 0.00005 A5 — — 0.00005 A5 — — 0.00005 4} — —
5l v v B % ok & | mgL |0.01[0.001K5| — —  |0.001KTm|  — —  |0.001Kdm|  — —  |0.001Kim|  — —
6l6h & O = © fb A B| me/ |0.01 [0.0014K| — —  |0.0014K0m| — —  |0.0014K0m|  — —  |0.0014K0m| — —
7l F & O % o b & | meL |0.01 |0.001K7| — —  |0.0014K%| — —  |0.0014K%| — —  |0.0014K%| — —
gl~ i 7 = & fk A W] megL | 0.02[0.002K0|  — —  |0.002AKm|  — —  [0.002Am|  — —  |0.002Am|  — —
9 |# A e f& % K| meg/L [0.04[0.004K7| <~ — —  [0.004Fm| — —  [0.004FGm| — —  |0.0044T|  — —
10| 7o 1ea4 v ROy 72| me/l | 0.01 [0.0014H| — —  |0.001AKw| — —  |0.001ATw| — —  |0.001A| — —
11 |l e fe e 5 R O 0 A 9 2 % F| me/l | 10 0.7 — — 0.8 — — 0.9 — — 0.6 — —
1207 v F K % 0 fb & P megl | 0.8 | 0.26 — — 0.24 — — 0.24 — — 0.23 — —
BIFE T FE LK OZ o0 A P mg/L | 1.0 | 01K — — 0. 1 A1t — — 0. 1 At — — 0. 1A — —
14| # 1t 7% | mg/L | 0.002 [0.000247 — — 0.0002 A1 — — 0.0002 A7 — — 0.0002 A7 — —
15|14~ v A %  H | megL |0.05]0.005567 — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
w6 2 R T ] e | 0,04 Jo.0oaskil| — —  |0.004Kd|  — —  |0.004Kd|  — —  |o.0045ki|  — —
171 7 v v A % | mg/L |0.020.002KM| — —  |0.002HKMm| — —  |0.002HKm| — —  |0.002A|  — —
187 7 7287 = F L o mgr |0.01]0.000K «—— —  |0.001KTw|  — —  |0.001KTw|  — —  |0.001KTw|  — —
9|F vV 7 v v = F L | mgl |0.010.001F7 — —  |0.001Km| — —  |0.001Km| — —  |0.001Km| — —
20 | > N | mg/L | 0.01]0.001K5| — —  |0.001AKm| — —  [0.001AKmi| — —  |0.001A| — —
21 [ =3 | me/L | 0.6 | 0.06K7; — — 0.06 At — — 0.08 — — 0.06 A — —
227 = e M| me/L | 0.02[0.002455| — —  |0.002A4w|  — —  |0.002A4w|  — —  |0.0024Tw|  — —
23l v v & A | mgL |0.06] 0.001 — — 0.002 — —  |0.001AKm| — —  |0.0014K0m| — —
241y 7 9w v EE BBl me/L |0.03]0.003K5| — —  |0.003ATm|  — —  |0.003ATw| — —  |0.003ATw| — —
25 7 m® Zmm A X Y mgl | 0.1 0.001 — — 0.001 — — 0.001 — — 0.001 A — —
26 |2 # M| me/L | 0.01 [0.001AK0| — —  [0.001HGm| — —  [0.001#0m| — —  |0.0014Tw|  — —
271 h U v v X % »mgL | 0.1 ] 0.003 — — 0.005 — — 0.002 — — 0.001 A — —
28| U 7w v EE BB me/L |0.03]0.003K5|  — —  |0.003Aw| — —  [0.003Aw| — —  |0.003Aw| — —
297 v ® ¥ 7 mw X & > mgL [0.03] 0.001 — — 0.002 — — 0.001 — —  |0.001K| — —
307 = = & o A mer [0.09]0.0014 0 — —  |0.001AKm| — —  |0.001KMm| — —  |0.001Am| — —
3lfx v & 7 A F v F| meL |0.08[0.008K0 < — —  |0.008K¥m|  — —  |0.008K¥m|  — —  |0.008Kim|  — —
3208 #4 & O = © fb A | megL | 1.0 | 0.05A — — 0.05A1if — — 0.05Aif — — 0.05A i — —
BT AI=T AR OZEDLE Y| me/L | 0.2 | 0.02K75 — — 0.02Aifi — — 0.02Aifi — — 0.02Aifi — —
34|18 & O = o b A& | meL | 0.3 | 0.03K7 — — 0.03 A1 — — 0.03 A1 — — 0.03 A1 — —
3Bl K T o L A& B me/l | 1.0 | 0.055KT — — 0.05A1ifi — — 0.05A1if — — 0.05A1ifi — —
36[F RV Y LK OE DAL A W] me/L | 200 7.2 — — 5.5 — — 6.1 — — 6.2 — —
37|~ v # v k% oAt & | mg/L |0.05|0.005HK — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
sl kb 4 A | mgL | 200 5.3 5.0A3# | 5.0K0 | 5.0A0 | 5.0 5.7 5.1 5.0 | 5.0K0M | 5.0 | 5.04m | 5.0
39 vy, w7 ke % ()| me/L | 300 47 — — 37 — — 46 — — 45 — —
401 % % ® | mg/L | 500 74 — — 77 — — 94 — — 79 — —
41 4 A » R m & % Al meL | 0.2 | 0.02575 — — 0.02Aifi — — 0.02Aifi — — 0.02Aifi — —
421> = X A 2 | mg/L | 0.00001 |0.000001 35 — — 0.000001 A5 — — 0.000001 A5 — — 0.000001 A7 — —
4312 — AF VA VIRV R A — 1| mg/L | 0.00001 |0.000001 A — — 0.000001 35 — — 0.000001 35 — — 0.000001 3% — —
443 « A v /o3& M Al me/L | 0.02 [0.005HK| — —  |0.005K%| < — —  |0.005K%| < — —  |0.0055K4m| — —
4517 = 7 — b | mg/L |0.005[0.0005A7H; — — 0.0005 A — — 0.0005 A — — 0.0005 A4 — —
46|65 B ® ( TOC ©» B )| mg/L | 3 0.3 0.4 0.4 0.4 0.4 0.4 0.4 0.3 0.3 0. 35 0.3 0.5
47 o H fiE ~5'88.6 7.3 7.2 7.1 7.1 7.1 7.1 7.1 7.2 7.2 7.2 7.2 7.2
48 Bk RO B | B | BEeL | Bl | BElel | Bl | BERL | BERL | BERL | Bl | BEeL | BEiL
49 |5 & FOY BEAL | BEARL | BERL | BEeL | BERL | BERL | REAL | BEARL | BEAL | BEAL | BEARL | BEL
50 [ s 5 LA LA IEST LA LA LA LA LA IEST IEST| LA LA
51| E| B 2 | O.1KW | O | 0.1 | O.1ARW | O.1K% | 0.1 | 0.15K%W | O.1ARWM | 0.15KW | 01N | 0.1K%m | 0.1

% £ i #| mgL lowmr| 0.4 0.3 0.3 0.3 0.3 0.4 0.3 0.3 0.3 0.4 0.3 0.3




AR B N KEHA TR T - OKE R L)
ORLF RS GGk K isR H A

B FISHE
ﬁ I H 4 | fr|iwem| 448 [5H23H[6H15H (THISH| 8H1H |9H21H|10A10H|11A16H|12A19H| 1H9H | 2H1H [3H14H
1| i “H L | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 |k i B o P B S B ST R S B ST R S h 3| B ST R i 3 B ST R ash 3 Bt S 9| i iash 3
3P RIT LK OE DA W me/L | 0.003 [0.000374i — — 0.0003 A — — 0.0003 A — — 0.0003 A7 — —
41k 8B & 8 = @ b A& | me/L | 0.0005 — — — 0.00005 A — — — — — — — —
5l v v B % ok & | mgL |0.01[0.001K5| — —  |0.001KTm|  — —  |0.001Kdm|  — —  |0.001Kim|  — —
6l6h & O = © fb A B| me/ |0.01 [0.0014K| — —  |0.0014K0m| — —  |0.0014K0m|  — —  |0.0014K0m| — —
7l F & O % o b & | meL |0.01 |0.001K7| — —  |0.0014K%| — —  |0.0014K%| — —  |0.0014K%| — —
gl~ i 7 = & fk A W] megL | 0.02[0.002K0|  — —  |0.002AKm|  — —  [0.002Am|  — —  |0.002Am|  — —
9 [# w4 M & ®  F| mgL [0.04 — — —  |0.004AKTw|  — — — — — — — —
10| 7o 1ea4 v ROy 72| me/l | 0.01 [0.0014H| — —  |0.001AKw| — —  |0.001ATw| — —  |0.001A| — —
11 |l e fe e 5 R O 0 A 9 2 % F| me/l | 10 — — — 1.5 — — — — — — — —
1207 v F K % o ik & P mgl | 0.8 | 0.37 — — 0.36 — — 0.39 — — 0.34 — —
BIR D #F kO Z 0 & B me/ | 1.0 | 0.1K7 — — 0. 1 A1t — — 0. 1 At — — 0. 1A — —
14| # it 7% | mg/L | 0.002 [0.000247 — — 0.0002 A1 — — 0.0002 A7 — — 0.0002 A7 — —
15|14~ v A %  H | megL |0.05]0.005567 — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
w6 2 R T ] e | 0,04 Jo.0oaskil| — —  |0.0045KiH|  — —  |0.0045kiH|  — —  |0.0045KiH|  — —
171 7 v v A % | mg/L |0.020.002KM| — —  |0.002HKMm| — —  |0.002HKm| — —  |0.002A|  — —
187 7 7287 = F L o mgr |0.01]0.000K «—— —  |0.001KTw|  — —  |0.001KTw|  — —  |0.001KTw|  — —
9|F vV 7 v v = F L | mgl |0.010.001F7 — —  |0.001Km| — —  |0.001Km| — —  |0.001Km| — —
20 | > N | mg/L | 0.01]0.001K5| — —  |0.001AKm| — —  [0.001AKmi| — —  |0.001A| — —
21 |H =S 2| me/L | 0.6 | 0.06A — — 0.06 A1 — — 0.06Aifi — — 0.06 A7 — —
227 = e M| me/L | 0.02[0.002455| — —  |0.002A4w|  — —  |0.002A4w|  — —  |0.0024Tw|  — —
23 = = & 4 A mgL |0.06]0.0014 0 — — 0.001 — —  |0.001Km| — —  |0.001Km| — —
241y 7 9w v EE BBl me/L |0.03]0.003K5| — —  |0.003ATm|  — —  |0.003ATw| — —  |0.003ATw| — —
251 7 v 7 moo A& mgL | 0.1 |0.00K7|  — — 0.001 — — 0.001 — —  |0.001AKm| — —
26 |2 # M| me/L | 0.01 [0.001AK0| — —  [0.001HGm| — —  [0.001#0m| — —  |0.0014Tw|  — —
271 ~ U o~ m A & | mgL | 0.1 |0.001AK7| — — 0.003 — — 0.001 — —  |0.001KTw|  — —
28I U 7 wm wm EE BBl mg/L |0.03]0.003Km| — —  |0.003Aw| — —  [0.003Aw| — —  |0.003Aw| — —
297 v & ¥ 7 w2 o mel 00300014 — — 0.001 — —  |0.001K¥| — —  |0.001Kdm| — —
307 = = & o A mer [0.09]0.0014 0 — —  |0.001AKm| — —  |0.001KMm| — —  |0.001Am| — —
3lfx v & 7 A F v F| meL |0.08[0.008K0 < — —  |0.008K¥m|  — —  |0.008K¥m|  — —  |0.008Kim|  — —
3208 #4 & O = © fb A | megL | 1.0 | 0.05A — — 0.05A1if — — 0.05Aif — — 0.05A i — —
BT AI=T AR OZEDLE Y| me/L | 0.2 | 0.02K75 — — 0.02Aifi — — 0.02Aifi — — 0.02Aifi — —
34|18 & O = o b A& | meL | 0.3 | 0.03K7 — — 0.03 A1 — — 0.03 A1 — — 0.03 A1 — —
3Bl K T o L A& B me/l | 1.0 | 0.055KT — — 0.05A1ifi — — 0.05A1if — — 0.05A1ifi — —
36[F RV Y LK OE DAL A W] me/L | 200 8.6 — — 7.2 — — 7.5 — — 7.4 — —
37|~ v # v k% oAt & | mg/L |0.05|0.005HK — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
8l b ¥ 4 A | me/L | 200 6.3 5.0 A5 5.0 5.4 5.3 6.6 6.0 5.6 5.1 6.3 5.7 5.5
39 vy, w7 ke % ()| me/L | 300 — — — 44 — — — — — — — —
401 % % ® | mg/L | 500 90 — — 99 — — 100 — — 95 — —
41|z A A > S i P Al meL | 0.2 — — — | 0.02Km | — — — — — — — —
21 = A A2 I | mg/L | o000 — — — 0.000001 A — — — — — — — —
4312 — AF VAV RV F A — 1| mg/L | 0.00001 — — — 0.000001 A — — — — — — — —
443 « A v /o3& M Al me/L | 0.02 [0.005HK| — —  |0.005K%| < — —  |0.005K%| < — —  |0.0055K4m| — —
4517 = ,  — b H| meg/L |0.005 — — —  [0.0005K0#|  — — — — — — — —
46|65 B ® ( TOC ©» B )| mg/L | 3 0.5 0.5 0.5 0.6 0.4 0.5 0.4 0.3 0.4 0.3 0.4 0.5
47]p H fi RN 7.2 7.1 7.0 7.1 7.1 7.1 7.2 7.2 7.3 7.1 7.2
48 Bk RO BEZRL | BEleL | B | BEeL | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BERL
49 |~ = RO BERL | BEiel | AL | BEeL | B | Bl | L | BERL | BERL | BERL | BERL | BElRL
50 |2 B 5 1A i 1A it 1At 1A it 1A it LA 1A i 1A it 1At 1A it 1 A it 1At
51| E| B 2 | O.1KW | O | 0.1 | O.1ARW | O.1K% | 0.1 | 0.15K%W | O.1ARWM | 0.15KW | 01N | 0.1K%m | 0.1

% £ i #| mgL lowmr| 0.4 0.4 0.4 0.4 0.5 0.4 0.4 0.5 0.4 0.5 0.5 0.5




AT E TS

B 26T - OKERRATRR)

O H K R wifn K e (B HBL K Rt — BT [ BRARIRAT)

B FISHE
ﬁ I H 4 | fr|iwem| 448 [5H23H[6H15H (THISH| 8H1H |9H21H|10A10H|11A16H|12A19H| 1H9H | 2H1H [3H14H
1| i %Ea L | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 |k i B o P B S B ST R S B ST R S h 3| B ST R i 3 B ST R ash 3 Bt S 9| i iash 3
3P RIT LK OE DA W me/L | 0.003 [0.000374i — — 0.0003 A — — 0.0003 A — — 0.0003 A7 — —
41k 8B & 8 = @ b A& | me/L | 0.0005 — — — 0.00005 A — — — — — — — —
5l v v B % ok & | mgL |0.01[0.001K5| — —  |0.001KTm|  — —  |0.001Kdm|  — —  |0.001Kim|  — —
6l6h & O = © fb A B| me/ |0.01 [0.0014K| — —  |0.0014K0m| — —  |0.0014K0m|  — —  |0.0014K0m| — —
7l F & O % o b & | meL |0.01 |0.001K7| — —  |0.0014K%| — —  |0.0014K%| — —  |0.0014K%| — —
gl~ i 7 = & fk A W] megL | 0.02[0.002K0|  — —  |0.002AKm|  — —  [0.002Am|  — —  |0.002Am|  — —
9 [# w4 M & ®  F| mgL [0.04 — — —  |0.004AKTw|  — — — — — — — —
10| 7o 1ea4 v ROy 72| me/l | 0.01 [0.0014H| — —  |0.001AKw| — —  |0.001ATw| — —  |0.001A| — —
11 |l e fe e 5 R O 0 A 9 2 % F| me/l | 10 — — — 1.4 — — — — — — — —
1207 v F K % o ik & P mgl | 0.8 | 0.37 — — 0.36 — — 0.39 — — 0.33 — —
BIFE T FE LK OZ o0 A P mg/L | 1.0 | 01K — — 0. 1 A1t — — 0. 1 At — — 0. 1A — —
14| # 1t 7% | mg/L | 0.002 [0.000247 — — 0.0002 A1 — — 0.0002 A7 — — 0.0002 A7 — —
15|14~ v A %  H | megL |0.05]0.005567 — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
w6 2 R T ] e | 0,04 Jo.0oaskil| — —  |0.004Kd|  — —  |0.004Kd|  — —  |o.0045ki|  — —
171 7 v v A % | mg/L |0.020.002KM| — —  |0.002HKMm| — —  |0.002HKm| — —  |0.002A|  — —
187 7 7287 = F L o mgr |0.01]0.000K «—— —  |0.001KTw|  — —  |0.001KTw|  — —  |0.001KTw|  — —
9|F vV 7 v v = F L | mgl |0.010.001F7 — —  |0.001Km| — —  |0.001Km| — —  |0.001Km| — —
20 | > N | mg/L | 0.01]0.001K5| — —  |0.001AKm| — —  [0.001AKmi| — —  |0.001A| — —
21 i ES | me/L | 0.6 | 0.06A7 — — 0.07 — — 0.08 — — 0.06 AT — —
227 = e M| me/L | 0.02[0.002455| — —  |0.002A4w|  — —  |0.002A4w|  — —  |0.0024Tw|  — —
237 = v &k o | mer [0.06] 0.003 — — 0.008 — — 0.004 — — 0.001 — —
241y 7 9w v EE BBl me/L |0.03]0.003K5| — —  |0.003ATm|  — —  |0.003ATw| — —  |0.003ATw| — —
25 7 v ' s mw X & 2 mgl|0.1] 0002 — — 0.002 — — 0.004 — — 0.002 — —
26 |2 # M| me/L | 0.01 [0.001AK0| — —  [0.001HGm| — —  [0.001#0m| — —  |0.0014Tw|  — —
271 ~ U o~ m % % | mgL | 0.1 ] 0.007 — — 0.015 — — 0.013 — — 0.005 — —
28|~ UV 7 w v EE EE| mg/L |0.03]0.003K%| — — 0.003 — —  |0.003A7m| — —  |0.003FKm| — —
297 v ® ¥ 7w X & > mgl [0.03] 0.002 — — 0.005 — — 0.004 — — 0.002 — —
307 = = & o A mer [0.09]0.0014 0 — —  |0.001AKm| — — 0.001 — —  |0.001Am| — —
314 A~ A 7 A F b F| mgL |0.08]0.008K3|  — —  |0.008K¥m|  — —  |0.008K¥m|  — —  |0.008Kim|  — —
3208 #4 & O = © fb A | megL | 1.0 | 0.05A — — 0.05A1if — — 0.05Aif — — 0.05A i — —
BT AI=T AR OZEDLE Y| me/L | 0.2 | 0.02K75 — — 0.02 — — 0.02Aifi — — 0.02Aifi — —
34|18 & O = o b A& | meL | 0.3 | 0.03K7 — — 0.03 A1 — — 0.03 A1 — — 0.03 A1 — —
3Bl K T o L A& B me/l | 1.0 | 0.055KT — — 0.05A1ifi — — 0.05A1if — — 0.05A1ifi — —
36[F RV Y LK OE DAL A W] me/L | 200 8.9 — — 7.4 — — 7.8 — — 7.5 — —
37|~ v # v k% oAt & | mg/L |0.05|0.005HK — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
8l b ¥ 4 A | me/L | 200 6.4 5.0 A 5.0 5.6 6.1 5.1 6.1 5.0 | 5.0 6.4 5.2 5.1
39 vy, w7 ke % ()| me/L | 300 — — — 45 — — — — — — — —
401 % % ® | mg/L | 500 87 — — 100 — — 110 — — 90 — —
41|z A A > S i P Al meL | 0.2 — — — | 0.02Km | — — — — — — — —
21 = A A X | mg/L | o000 — — — 0.000001 A:Jis — — — — — — — —
4312 — AF VA4V RV R A —JL| mg/L | 000001 — — — 0.000001 A — — — — — — — —
443 « A v /o3& M Al me/L | 0.02 [0.005HK| — —  |0.005K%| < — —  |0.005K%| < — —  |0.0055K4m| — —
457 = / — v M| mg/L |0.005 — — — 0.0005 i — — — — — — — —
46|65 B ® ( TOC ©» B )| mg/L | 3 0.4 0.5 0.5 0.5 0.5 0.4 0.4 0.4 0.4 0.3 0.3 0.6
47 o H fiE ~5'88.6 7.5 7.5 7.3 7.4 7.3 7.3 7.6 7.5 7.4 7.5 7.3 7.4
48 Bk RO B | B | BEeL | Bl | BElel | Bl | BERL | BERL | BERL | Bl | BEeL | BEiL
49 |5 & FOY BEAL | BEARL | BERL | BEeL | BERL | BERL | REAL | BEARL | BEAL | BEAL | BEARL | BEL
50 | s 5 LA LA IEST LA LA 1A LA LA IEST IEST| LA LA
51| E| B 2 | O.1KW | O | 0.1 | O.1ARW | O.1K% | 0.1 | 0.15K%W | O.1ARWM | 0.15KW | 01N | 0.1K%m | 0.1

% & i #| me/t fowr] 0.2 0.3 0.2 0.3 0.3 0.3 0.3 0.2 0.2 0.3 0.2 0.2




AT E TS

1B 26T - OKE R AR R)
DG B K G Rwins ke (VN BBL KR — /NG

B FISHE
g H H 4 B || 411 H [5H18H | 6 H8H | TH4H |8H17TH| 9HTH |10H3H |[11H9H [12H7TH|1H16H|2H15H| 3A7H
1| i “H L | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 |k i B o P B S B ST R S B ST R S h 3| B ST R i 3 B ST R ash 3 Bt S 9| i iash 3
3P RIT LK OE DA W me/L | 0.003 [0.000374i — — 0.0003 A — — 0.0003 A — — 0.0003 A7 — —
4Pk ] Kk OV & O b & | me/L | 0.0005 [0.00005A — — 0.00005 A5 — — 0.00005 A5 — — 0.00005 4} — —
5l v v B % ok & | mgL |0.01[0.001K5| — —  |0.001KTm|  — —  |0.001Kdm|  — —  |0.001Kim|  — —
6l6hn & O %= @ b A& #| mgL |0.01[0.000K5| — — 0.002 — — 0.003 — — 0.002 — —
7l F & O % o b & | meL |0.01 |0.001K7| — —  |0.0014K%| — —  |0.0014K%| — —  |0.0014K%| — —
gl~ i 7 = & fk A W] megL | 0.02[0.002K0|  — —  |0.002AKm|  — —  [0.002Am|  — —  |0.002Am|  — —
9 |# A e f& % K| meg/L [0.04[0.004K7| <~ — —  [0.004Fm| — —  [0.004FGm| — —  |0.0044T|  — —
10| 7o 1ea4 v ROy 72| me/l | 0.01 [0.0014H| — —  |0.001AKw| — —  |0.001ATw| — —  |0.001A| — —
11 |l e fe e 5 R O 0 A 9 2 % F| me/l | 10 0.7 — — 0.7 — — 0.7 — — 0.5 — —
1207 v F K % 0 fb & P megl | 0.8 | 0.26 — — 0.25 — — 0.24 — — 0.24 — —
BIR D #F kO Z 0 & B me/ | 1.0 | 0.1K7 — — 0. 1 A1t — — 0. 1 At — — 0. 1A — —
14| # 1t 7% | mg/L | 0.002 [0.000247 — — 0.0002 A1 — — 0.0002 A7 — — 0.0002 A7 — —
15|14~ v A %  H | megL |0.05]0.005567 — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
w6 2 R T ] e | 0,04 Jo.0oaskil| — —  |0.004Kd|  — —  |0.004Kd|  — —  |o.0045ki|  — —
171 7 v v A % | mg/L |0.020.002KM| — —  |0.002HKMm| — —  |0.002HKm| — —  |0.002A|  — —
187 7 7287 = F L o mgr |0.01]0.000K «—— —  |0.001KTw|  — —  |0.001KTw|  — —  |0.001KTw|  — —
9|F vV 7 v v = F L | mgl |0.010.001F7 — —  |0.001Km| — —  |0.001Km| — —  |0.001Km| — —
20 | > N | mg/L | 0.01]0.001K5| — —  |0.001AKm| — —  [0.001AKmi| — —  |0.001A| — —
21 i ES | me/L | 0.6 | 0.06A7 — — 0.07 — — 0.09 — — 0.06 AT — —
227 = e M| me/L | 0.02[0.002455| — —  |0.002A4w|  — —  |0.002A4w|  — —  |0.0024Tw|  — —
237 v v &k v | mer [0.06] 0.004 — — 0.007 — — 0.005 — — 0.001 — —
241y 7 9w v EE BBl me/L |0.03]0.003K5| — —  |0.003ATm|  — —  |0.003ATw| — —  |0.003ATw| — —
25 7w ® s mw X mgL|0.1] 0001 — — 0.002 — — 0.002 — — 0.002 — —
26 |2 # M| me/L | 0.01 [0.001AK0| — —  [0.001HGm| — —  [0.001#0m| — —  |0.0014Tw|  — —
271 ~ U o~ m % % | mgL | 0.1 ] 0.007 — — 0.013 — — 0.011 — — 0.005 — —
28|~ UV 7 w v EE EE| mg/L |0.03]0.003K%| — — 0.003 — —  |0.003A7m| — —  |0.003FKm| — —
297 v ® ¥ 7w X & > mgl [0.03] 0.002 — — 0.004 — — 0.004 — — 0.002 — —
307 = = & o A mer [0.09]0.0014 0 — —  |0.001AKm| — —  |0.001KMm| — —  |0.001Am| — —
3lfx v & 7 A F v F| meL |0.08[0.008K0 < — —  |0.008K¥m|  — —  |0.008K¥m|  — —  |0.008Kim|  — —
3208 #4 & O = © fb A | megL | 1.0 | 0.05A — — 0.05A1if — — 0.05Aif — — 0.05A i — —
BT AI=T AR OZEDLE Y| me/L | 0.2 | 0.02K75 — — 0.02Aifi — — 5.0 At — — 5.0 i — —
34|18 & O = o b A& | meL | 0.3 | 0.03K7 — — 0.03 A1 — — 0.03 A1 — — 0.03 A1 — —
3Bl K T o L A& B me/l | 1.0 | 0.055KT — — 0.05A1ifi — — 0.05A1if — — 0.05A1ifi — —
36[F RV Y LK OE DAL A W] me/L | 200 6.8 — — 6.1 — — 6.5 — — 6.9 — —
37|~ v # v k% oAt & | mg/L |0.05|0.005HK — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
sl kb 4 A | mgL | 200 5.2 5.0A3# | 5.0K0 | 5.0A0 | 5.0 5.1 5.0 | 5.0A0 | 5.0AM | 5.0 | 5.0 | 5.0K7
39 vy, w7 ke % ()| me/L | 300 44 — — 41 — — 46 — — 50 — —
401 % % ® | mg/L | 500 79 — — 84 — — 85 — — 80 — —
41 4 A » R m & % Al meL | 0.2 | 0.02575 — — 0.02Aifi — — 0.02Aifi — — 0.02Aifi — —
421> = X A 2 | mg/L | 0.00001 |0.000001 35 — — 0.000001 A5 — — 0.000001 A5 — — 0.000001 A7 — —
4312 — AF VA VIRV R A — 1| mg/L | 0.00001 |0.000001 A — — 0.000001 35 — — 0.000001 35 — — 0.000001 3% — —
443 « A v /o3& M Al me/L | 0.02 [0.005HK| — —  |0.005K%| < — —  |0.005K%| < — —  |0.0055K4m| — —
4517 = 7 — b | mg/L |0.005[0.0005A7H; — — 0.0005 A — — 0.0005 A — — 0.0005 A4 — —
46|15 ¥ ( TOC @ & )| meg/L | 3 0.3 0.4 0.4 0.4 0.4 0.3 0.3 0.3 | 0.3 | 0.37Am 0.3 0.4
47]p H fi D e 7.5 7.4 7.5 7.5 7.6 7.6 7.4 7.4 7.5 7.4 7.5
48 Bk RO B | B | BEeL | Bl | BElel | Bl | BERL | BERL | BERL | Bl | BEeL | BEiL
49 |5 & FOY BEAL | BEARL | BERL | BEeL | BERL | BERL | REAL | BEARL | BEAL | BEAL | BEARL | BEL
50 [ s 5 LA LA IEST LA LA LA LA LA IEST IEST| LA LA
51| E| B 2 | O.1KW | O | 0.1 | O.1ARW | O.1K% | 0.1 | 0.15K%W | O.1ARWM | 0.15KW | 01N | 0.1K%m | 0.1

% £ i #| mgL lowmr| 0.4 0.2 0.2 0.3 0.4 0.4 0.4 0.5 0.5 0.3 0.5 0.3




AT E TS

B 26T - OKERRATRR)

@ FF K R widn ke (G BBLK Rt — 5 &)

B FISHE
g H H 4 B || 411 H [5H18H | 6 H8H | TH4H |8H17TH| 9HTH |10H3H |[11H9H [12H7TH|1H16H|2H15H| 3A7H
1| i 0 Ltk | 100 0 0 0 1 2 0 0 0 0 0 0 0
2 |k i B o P B S B ST R S B ST R S h 3| B ST R i 3 B ST R ash 3 Bt S 9| i iash 3
3P RIT LK OE DA W me/L | 0.003 [0.000374i — — 0.0003 A — — 0.0003 A — — 0.0003 A7 — —
4Pk ] Kk OV & O b & | me/L | 0.0005 [0.00005A — — 0.00005 A5 — — 0.00005 A5 — — 0.00005 4} — —
5l v v B % ok & | mgL |0.01[0.001K5| — —  |0.001KTm|  — —  |0.001Kdm|  — —  |0.001Kim|  — —
6l6h & O = © fb A B| me/ |0.01 [0.0014K| — —  |0.0014K0m| — —  |0.0014K0m|  — —  |0.0014K0m| — —
7l F & O % o b & | meL |0.01 |0.001K7| — —  |0.0014K%| — —  |0.0014K%| — —  |0.0014K%| — —
gl~ i 7 = & fk A W] megL | 0.02[0.002K0|  — —  |0.002AKm|  — —  [0.002Am|  — —  |0.002Am|  — —
9 |# A e f& % K| meg/L [0.04[0.004K7| <~ — —  [0.004Fm| — —  [0.004FGm| — —  |0.0044T|  — —
10| 7o 1ea4 v ROy 72| me/l | 0.01 [0.0014H| — —  |0.001AKw| — —  |0.001ATw| — —  |0.001A| — —
11 |l e fe e 5 R O 0 A 9 2 % F| me/l | 10 0.6 — — 0.6 — — 0.7 — — 0.5 — —
12/7 v F K % o ik & P mgl | 0.8 | 0.27 — — 0.25 — — 0.24 — — 0.23 — —
BIR D #F kO Z 0 & B me/ | 1.0 | 0.1K7 — — 0. 1 A1t — — 0. 1 At — — 0. 1A — —
14| # it 7% | mg/L | 0.002 [0.000247 — — 0.0002 A1 — — 0.0002 A7 — — 0.0002 A7 — —
15|14~ v A %  H | megL |0.05]0.005567 — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
w6 2 R T ] e | 0,04 Jo.0oaskil| — —  |0.0045KiH|  — —  |0.0045kiH|  — —  |0.0045KiH|  — —
171 7 v v A % | mg/L |0.020.002KM| — —  |0.002HKMm| — —  |0.002HKm| — —  |0.002A|  — —
187 7 7287 = F L o mgr |0.01]0.000K «—— —  |0.001KTw|  — —  |0.001KTw|  — —  |0.001KTw|  — —
9|F vV 7 v v = F L | mgl |0.010.001F7 — —  |0.001Km| — —  |0.001Km| — —  |0.001Km| — —
20 | > N | mg/L | 0.01]0.001K5| — —  |0.001AKm| — —  [0.001AKmi| — —  |0.001A| — —
21 |H =S | me/L | 0.6 | 0.15 — — 0.12 — — 0.16 — — 0.14 — —
227 = e M| me/L | 0.02[0.002455| — —  |0.002A4w|  — —  |0.002A4w|  — —  |0.0024Tw|  — —
237 v v &k o | mer [0.06] 0.005 — — 0.007 — — 0.004 — — 0.002 — —
241y 7 9w v EE BBl me/L |0.03]0.003K5| — —  |0.003ATm|  — —  |0.003ATw| — —  |0.003ATw| — —
25| 7 m® 7/ mm AKX ¥ mgL|0.1] 0.001 — — 0.001 — — 0.002 — — 0.001 — —
26 |2 # M| me/L | 0.01 [0.001AK0| — —  [0.001HGm| — —  [0.001#0m| — —  |0.0014Tw|  — —
27l ~ U N m A & | mgL | 0.1 ] 0.008 — — 0.011 — — 0.008 — — 0.004 — —
28I U 7 wm wm EE BBl mg/L |0.03]0.003Km| — —  |0.003Aw| — —  [0.003Aw| — —  |0.003Aw| — —
297 = & ¥ 7w AKX 2 mg/L |0.03] 0.002 — — 0.003 — — 0.002 — — 0.001 — —
307 = = & o A mer [0.09]0.0014 0 — —  |0.001AKm| — —  |0.001KMm| — —  |0.001Am| — —
3lfx v & 7 A F v F| meL |0.08[0.008K0 < — —  |0.008K¥m|  — —  |0.008K¥m|  — —  |0.008Kim|  — —
3208 #4 & O = © fb A | megL | 1.0 | 0.05A — — 0.05A1if — — 0.05Aif — — 0.05A i — —
BT A= A K RZDOLA Y| me/l | 0.2 | 0.024:5 — — 0.02Aifi — — 5.0 At — — 5.0 i — —
34|18 & O = o b A& | meL | 0.3 | 0.03K7 — — 0.03 A1 — — 0.03 A1 — — 0.03 A1 — —
3Bl K T o L A& B me/l | 1.0 | 0.055KT — — 0.05A1ifi — — 0.05A1if — — 0.05A1ifi — —
36[F RV Y LK OE DAL A W] me/L | 200 6.8 — — 6.4 — — 6.7 — — 7.7 — —
37|~ v # v k% oAt & | mg/L |0.05|0.005HK — —  |0.005K7m| — —  |0.005K7m| — —  |0.0054bm| — —
B b W A4 A | me/L | 200 5.1 5.0A3# | 5.0K0 | 5.0A0 | 5.0 5.8 5.0 | 5.0A0 | 5.0AM | 5.0 | 5.0 | 5.0K7
39 vy, w7 ke % ()| me/L | 300 45 — — 42 — — 47 — — 57 — —
401 % % ® | mg/L | 500 83 — — 78 — — 85 — — 80 — —
41 4 A » R m & % Al meL | 0.2 | 0.02575 — — 0.02Aifi — — 0.02Aifi — — 0.02Aifi — —
421> = X A 2 | mg/L | 0.00001 |0.000001 35 — — 0.000001 A5 — — 0.000001 A5 — — 0.000001 A7 — —
4312 — AF )L A VIR IV XA — )| mg/L | 0.00001 |0.0000015K7 — — 0.000001 785 — — 0.000001 5785 — — 0.000001 7% — —
443 « A v /o3& M Al me/L | 0.02 [0.005HK| — —  |0.005K%| < — —  |0.005K%| < — —  |0.0055K4m| — —
4517 = 7 — b | mg/L |0.005[0.0005A7H; — — 0.0005 A — — 0.0005 A — — 0.0005 A4 — —
46|65 B ® ( TOC ©» B )| mg/L | 3 0.4 0.6 0.5 0.5 0.4 0.4 0.4 0.3 0.4 0.3 0.5 0.5
47 o H il ~5'88.6 7.7 7.7 7.6 7.7 7.6 7.6 7.6 7.5 7.6 7.6 7.6 7.5
48 Bk RO BEZRL | BEleL | B | BEeL | BERL | BERL | BERL | BERL | BERL | BERL | BERL | BERL
49 |~ = RO BERL | BEiel | AL | BEeL | B | Bl | L | BERL | BERL | BERL | BERL | BElRL
50 |2 B 5 1A i 1A it 1At 1A it 1A it LA 1A i 1A it 1At 1A it 1 A it 1At
51 ¥ B 2 0.2 0.3 0.1 0.2 0.2 0. 1A | 0140 0.3 0.3 0.1 0.1 0.2

% £ i #| me/t fowr] 0.3 0.3 0.3 0.3 0.3 0.4 0.3 0.5 0.3 0.2 0.4 0.4




AT E TS

B 26T - OKERRATRR)

OFE 7K Rtda K (B J7 Bl SRE — & i)

B FISHE
ﬁ H H 4 wooprf |4 H13H | bH9H | 6H6H |TH13H| 8H8H | 9H5H |10H12H|11H7H | 12H5H |1H18H| 2H6H | 3H5H
1| i “H L [ 100 0 0 0 0 0 0 0 0 0 0 0 0
2 |k W BRSSP ST RISA P ST R IESA P RS RSP RIS R IESA P RS RS h T RS s
3IFRIUV LK OZEOD|A Y| mg/L [0.003 — 0.0003 A — — 0.0003 A7 — — 0.0003 i — — 0.0003 A1 —
41k 8B & Y = © b & | mg/L |0.0005 — 0.00005 A5 — — 0.00005A i3 — — 0.00005A it — — 0.00005Ait5 —
5l v v & % ok & | me/l [0.01 —  |0.001AKm| — —  |0.001AKGm| — —  |0.001Am| — — |0.001AKdm| —
6l6n & 0 = @ b & | mgL |0.01 —  |0.001K3m|  — —  |0.001Km|  — —  |0.001Km| — —  |0.001KW| —
7l F Kk & o b A& B mgL |0.01 —  |0.001Am| — —  |0.001Am| — —  |0.001Am| — —  |0.001Am| —
sIs i 7 = A fk A& | meL |0.02 —  |0.002K4m| — —  |0.002Km|  — —  |0.002K3m| — — |0.002AK4m|  —
9 |H AY mE R % FE| me/L [0.04 —  |0.004AK5|  — —  |0.004AK5m| — —  |0.004AKm| — —  |0.004A|  —
10> 7 bt 4> RO 7| mg/l 0. 01 —  |0.001K3m|  — —  |0.001K| — —  |0.001KW| — —  |0.001KW| —
11 |l i e 4 5 R O A R AR 48 #E| me/l | 10 — 0.8 — — 0.7 — — 0.8 — — 0.5 —
1217 v % & O 2 © {t & | me | 0.8 — 0.25 — — 0.24 — — 0.23 — — 0.23 —
13lx 7 #F kK 0% o it & %] me/l | 1.0 — 0. 1A — — 0. 1 A5 — — 0. 1 A3 — — 0. 1 A3 —
14|y i} it |75 #| me/L [0.002 — 0.0002 A i — — 0.0002 A i — — 0.0002 A i — — 0.0002 i —
154~ ¥ #F % H | mgL [0.05 —  |0.005K4m| — —  |0.005K3m|  — —  |0.005K4m| — —  |0.0054bm| —
16 f??ﬁifi‘jiii;;’%‘i mg/l [0.04 | —  |o.004s|  — — |o.004Fki|  — —  |o.004ki|  — — o004k —
171 7 v wm A & | mgL |0.02 —  |0.002Am| — —  |0.002AKm| — —  |0.002AKm| — —  |0.002Am| —
87 r 7 72817 =5 L o mg |0.01 —  |0.001K3m| — —  |0.001K|  — —  |0.001K|  — —  |0.001KW|  —
9|V 7 v v = F L | mgl |0.01 —  |0.001Am| — —  |0.001ATw|  — —  |0.0014w|  — —  |0.0014Kw|  —
20 | > N > mg/L 0. 01 —  |0.001Am| — —  |0.001KGw| — —  |0.001KGw| — —  |0.001Am| —
21 |H =S M| mg/L | 0.6 — 0.06 A7 — — 0.07 — — 0.06 A7 — — 0.06 A7 —
22|~ = G | me/L 0. 02 —  |0.002Am|  — —  |0.002AK¥m| — —  |0.00244m|  — — |0.002AKdm|  —
237 = v & 4 4| mgL |0.06 — 0.004 — — 0.004 — —  |0.00LA¥m| — — |0.001Adm|  —
241y 7 = m  FE | me/L [0.03 —  |0.003Am| — —  |0.003Fw|  — —  |0.003Am| — —  |0.003FTw|  —
2wl 7 e E s a8 2% 2 me |01 —  |0.001Am| — — 0.002 — — 0.002 — — 0.001 —
26 |~ H# fik| me/L |0.01 —  |0.001Am| — —  |0.001A&Mm| — —  |0.001A&m|  — —  |0.001AKm| —
oTle F U N B o2 & v met |01 — 0.006 — — 0.009 — — 0.004 — — 0.002 —
28I U 7 m m EE | me/L [0.03 —  |0.003Am| < — —  |0.003FTw|  — —  |0.003Am| — — 0.006 —
9|7 2 v 7o 8a A% ngL|0.03 — 0.002 — — 0.003 — — 0.002 — — 0.001 —
30[7 = = & 4| mg/L |0.09 —  |0.001K¥m| — —  |0.001Km| — —  |0.001Km| — — |0.001Adm| < —
31l&x o+ & 7 A F b K| meL |0.08 —  |0.008K¥w| — —  |0.008K¥w| — —  |0.008K¥w| — —  |0.008K¥m|  —
2 4 K O ZF ot A W mel | 1.0 — 0.05 A — — 0.05Aifi — — 0.05Aif — — 0.05 A —
BT =T AR OZEO/AE Y| me/L [ 0.2 — 0.02A i — — 0.02 A3 — — 0.02 A3 — — 0.02 —
Ml B O = 0 b & | meL |0.3 — 0.03 A7 — — 0.03Aif — — 0.03Aif — — 0.03 A7 —
3B K T o b A& B met | 1.0 — 0.05A1if — — 0.05Aif — — 0.05A1if — — 0.05A1if —
36[F RV Y LK ONE DAL A W] me/L | 200 — 6.2 — — 5.6 — — 7.6 — — 6.7 —
3Tl v v kO F @b & | me/L [0.05 —  |0.005Am| — —  |0.005Am| < — —  |0.005Am| — —  |0.005Am| < —
/I b A4 A | mg/L | 200 | 5.05K0 | 5.0 | 5.0V | 5.0 | 5.0 | 5.0 5.1 5.0 | 5.0K0 | 5.0A4 | 5.0 5.2
39 vy, w7 ke 2% ()| me/L | 300 — 41 — — 40 — — 55 — — 45 —
001 % % # #| mgL | 500 — 73 — — 77 — — 85 — — 67 —
41fke 4 A » R m W P Al me/L | 0.2 — 0.02Aifi — — 0.02Aifi — — 0.02Aifi — — 0.02Aifi —
421> = X A 2 | mg/LL | 0. 00001 — 0.000001 A5 — — 0.000001 A5 — — 0.000001 A5 — — 0.000001 A7t —
4312 — AF )L A VIR )L XA — )| mg/L | o. 00001 — 0.000001 it — — 0.000001 it — — 0.000001 it — — 0.000001 At —
443 14 A v R om IE tE Al me/L [0.02 —  |0.005K| — —  |0.005K| — —  |0.005K| — —  |0.0055R3m|  —
457 = J — v JA| meg/L [0.005 — 0.0005 A i — — 0.0005 A i — — 0.0005 A i — — 0.0005 A4 —
46 B ( TOC ©» £ )| megL | 3 0.4 0.4 0.4 0.5 0.3 0.3 0.35K0M | 0.3 | 0.3 0.3 0.3 1ii 0.4
47 o H fiE jé% 7.3 7.4 7.4 7.2 7.4 7.3 7.3 7.4 7.4 7.3 7.3 7.3
48 o A | B | Bel | BERL | BElel | BERL | BElel | BERL | BElel | BEARL | BElel | BERL | Bl
49 |~ & Ao | BEZRL | B | BERL | BEeL | BERL | BEel | BERL | BEel | BERL | Bl | BERL | BEel
50 [ s 5 IEST LA IEST LA LA LA LA LA IEST IEST| 1A LA
51| E| B 2 | 0.1 | O.1RV# | 0.1 | 0.1V | 0.1 | O.1RV# | 0.1 | 0.1V | 0.1 | O.1RV | 0.1 | 0.1KJi

% £ i #| mgL lowr| 0.3 0.2 0.2 0.2 0.3 0.2 0.2 0.3 0.2 0.3 0.3 0.2




AT E TS

e
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B 26T - OKERRATRR)

lyhl‘é\7j\<*$ (k@@ﬂﬂ%@ﬁﬁ T /DJIJ}'T%T‘)

B FISHE
g H H 4 wooprfikuefel4 H13H | 5H9H | 6H6H |TH13H| 8H8H | 9H5H |10H12H|11H7H | 12H5H |1H18H | 2H6H | 3H5H
1| i %Ea L | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 |k i B o P B S B ST R S B ST R S h 3| B ST R i 3 B ST R ash 3 Bt S 9| i iash 3
3IFRITV LR OPZED|A Y| meg/L [0.003 — 0.0003 A — — 0.0003 A7 — — 0.0003 i — — 0.0003 A1 —
4Pk B K OV %F © b & | meg/L |0 0005 — 0.00005 A5 — — 0.00005A i3 — — 0.00005A it — — 0.00005Ait5 —
5ltLr v &R % o fk & B me/l |0.01 —  |0.001AKm| — —  |0.001AKGm| — —  |0.001Am| — — |0.001AKdm| —
6ltn & 0 = @ b & | mgL |0.01 —  |0.001K3m|  — —  |0.001Km|  — —  |0.001Km| — —  |0.001KW| —
Tl F Kk O F o b A B mgL |0.01 —  |0.001Am| — —  |0.001Am| — —  |0.001Am| — —  |0.001Am| —
IS i 7 = A ft A& | meL | 0.02 —  |0.002K4m| — —  |0.002K5m| < — —  |0.002K5m| < — — |0.002AK4m|  —
9 | AY mE R& % FHE| me/L [0.04 —  |0.004AK5|  — —  |0.004AK5m| — —  |0.004AKm| — —  |0.004A|  —
10> 7 bt 4> ROy 7| mg/l | 0.01 —  |0.001K3m|  — —  |0.001K| — —  |0.001KW| — —  |0.001KW| —
11 |l e fe e 5 R O 0 A 9 2 % F| me/l | 10 — 0.7 — — 0.6 — — 0.5 — — 0.5 —
12[7 v % & O 2 ©{t & | met | 0.8 — 0.24 — — 0.21 — — 0.29 — — 0.28 —
138 7 #F K 0% Ot & %] me/l | 1.0 — 0. 1A — — 0. 1 A5 — — 0. 1 A3 — — 0. 1 A3 —
14|y i} it |75 F| me/L | 0.002 — 0.0002 A i — — 0.0002 A i — — 0.0002 A i — — 0.0002 i —
54~ ¥ 4 F % | mgL [0.05 —  |0.005K4m| — —  |0.005K3m|  — —  |0.005K4m| — —  |0.0054bm| —
16 f; ;lfifiiiiiéﬁi? mg/l | 0.04  —  0.004R(w|  — —  [0.004FK7E|  — —  0.00457| — — |0.004%7H| —
171 7 v v A & | mg/L |0.02 —  |0.002Am| — —  |0.002AKm| — —  |0.002AKm| — —  |0.002Am| —
87 r 7 7287 = F L | mg|0.01 —  |0.001K3m| — —  |0.001K|  — —  |0.001K|  — —  |0.001KW|  —
9|V 7 v m = F L | mgl |0.01 —  |0.001Am| — —  |0.001ATw|  — —  |0.0014w|  — —  |0.0014Kw|  —
20 | > N > mg/L | 0.01 —  |0.001Am| — —  |0.001KGw| — —  |0.001KGw| — —  |0.001Am| —
21 i ES k| me/L | 0.6 — 0.06 A i — — 0.10 — — 0.15 — — 0.06 A i —
22|~ = G | mg/L | 0.02 —  |0.002Am|  — —  |0.002AK¥m| — —  |0.00244m|  — — |0.002AKdm|  —
23l = owm & o A meL |0.06 — 0.015 — — 0.031 — — 0.013 — — 0.006 —
24l 7 m  wm FE | me/L |0.03 —  |0.003Km| — — 0.006 — —  |0.003Km| — —  |0.003FKbm| —
%l 7 v ® s w2 & me | 0.1 —  |0.001Am| — —  |0.001AKG| — — 0.001 — — 0.001 —
26 |~ H# fik| me/L | 0.01 —  |0.001Am| — —  |0.001A&Mm| — —  |0.001A&m|  — —  |0.001AKm| —
o1l ~ U N m 2 & | mel | 0.1 — 0.018 — — 0.037 — — 0.019 — — 0.010 —
28| Uz m m EE B me/L [0.03 — 0.010 — — 0.016 — — 0.009 — —  |0.003K| —
297 v ® Y 7 na 2% | 003 — 0.003 — — 0.006 — — 0.005 — — 0.003 —
30[7 = = A& A A mg/L |0.09 —  |0.001K¥m| — —  |0.001Am| — —  |0.001A| — — |0.001Adm| < —
3lf&x v & 7 A F v F| mg/L |0.08 —  |0.008im|  — —  |0.008im|  — —  |0.008Aim|  — —  |0.008FAM| —
2 4 K 0% o b A& W me/l | 1.0 — 0.05 A — — 0.05Aifi — — 0.05Aif — — 0.05 A —
BT AI=T AR REDO/LA Y| me/L | 0.2 — 0.04 — — 0.07 — — 0.06 — — 0.02A¥5i —
Ml B O = o b & | meL | 0.3 — 0.03 A7 — — 0.03Aif — — 0.03Aif — — 0.03 A7 —
3B & N o b A B me/L | 1.0 — 0.05A1if — — 0.05Aif — — 0.05A1if — — 0.05A1if —
36| FU T A K OE DAL A | me/l | 200 — 5.9 — — 5.2 — — 7.7 — — 7.0 —
3Tl v v kO F ok & | me/L [0.05 —  |0.005Am| — —  |0.005Am| < — —  |0.005Am| — —  |0.005Am| < —
38l b W a4 A | megL | 200 | 5.0 6.5 5.0 | 5.0 6.3 6.3 5.8 6.2 6.4 5.0 AT 6.1 6.6
39 vy, w7 ke % ()| me/L | 300 — 37 — — 31 — — 43 — — 42 —
401 % % ® | mg/L | 500 — 66 — — 68 — — 72 — — 73 —
41fke A » R mEOWE P Al me/L | 0.2 — 0.02Aifi — — 0.02Aifi — — 0.02Aifi — — 0.02Aifi —
2l = A 2 | mg/L | oo — 0.0000015i#| 0.000001 | 0.000001 | 0.000001 | 0.000001 | 0.000001 | 0.000001 — —  |o.000001ki|  —
4312 — AF )L A VIR )L 34— )| mg/L | 0.00001 — 0.000001 A4t [ 0.000001 A3 | 0.000001 A4 | 0.000001 K5 | 0.000001 | 0.000001 |0.000001 i — — 0.000001 it —
443 4 A v R om IE tE Al me/L | 0.02 —  |0.005K| — —  |0.005K| — —  |0.005K| — —  |0.0055R3m|  —
4517 = J — b | mg/L |0.005 — 0.0005 A i — — 0.0005 A i — — 0.0005 A i — — 0.0005 A4 —
46|65 B ® ( TOC ©» B )| mg/L | 3 0.6 0.5 0.8 0.8 0.6 0.7 0.6 0.5 0.5 0.4 0.5 0.6
47 o H fiE ~5'88.6 7.3 7.7 7.7 7.7 7.8 7.8 7.9 7.9 7.7 7.6 7.4 7.5
48 Bk RO B | B | BEeL | Bl | BElel | Bl | BERL | BERL | BERL | Bl | BEeL | BEiL
49 |5 & FOY BEAL | BEARL | BERL | BEeL | BERL | BERL | REAL | BEARL | BEAL | BEAL | BEARL | BEL
50 | s 5 LA LA IEST LA LA LA LA LA IEST IEST 1A LA
51| E| B 2 | O.1KW | O | 0.1 | O.1ARW | O.1K% | 0.1 | 0.15K%W | O.1ARWM | 0.15KW | 01N | 0.1K%m | 0.1

% & i #| mg/L formt| 0.2 0.3 0.3 0.3 0.2 0.4 0.3 0.2 0.3 0.2 0.2 0.2




AT T AGE B A TR T - OKE kB s )
BV K« - KR TRK G BR i R

SRS
i K ALK HE TR KR | BEFREE KRR | AR 2K | ks
xAHl H 4 {7 10H17H 10H17H 10H17H 10H17H 10H17H I0H17H
1l — fix i Imlt 110 0 0 1 0 8
2| K 1% f HH Sy ehrn iy s s g s d RS d
S| PRI AR OZEDIL A YW | mg/L 0.0003 ¥ 0.0003 A7 0.0003 A1 0.0003 it 0.0003 A3 0.0003 i
41 K 8B X O 2 © & & ¥ | mg/L 0.00005 A7 0.00005 ATt 0.00005 Ak 0.00005 A3 0.00005 A i 0.00005 A4
5l v v kB2 o b A& % | mg/L 0.001 A i 0.00 1A 0.001 A7 0.001 ATt 0.001 A5 0.001 A7
6l ¢ K& O = o b A ¥ | mg/L 0.001 i 0.001 AT 0.001 AT 0.00 1 AJiti 0.001 AT 0.001 AT
e £ K O 2 o b A 9 mg/L 0.001 A7 0.00 1A 0.001 A 0.00 1 A 0.00 1A 0.001 A
sp~ m - = & (b & W mg/L 0.002Ai 0.002747if 0.002 A7t 0.002 77 0.002 A3 0.002 A1t
9 [ i iz HE £ | mg/L 0.004 A 0.004 A 0.004 ATt 0.004 A5 0.004 A5 0.004 At
Wl 7 e A4 k O 7 | mg/L 0.001 A3 0.001 AT 0.001 A 0.001 A 0.00 1A 0.001 A5
11 |ms me e &= % R OB MY M BB £ | mg/L 0.5 1.0 1.0 0.9 0.9 0.9
1217 v %2 & ® = o & & W mg/L 0.30 0.23 0.38 0.36 0.36 0.36
Blx v £ kK ® = o &b & W mg/L 0. 1 A3 0. 1A 0. 1 A3 0. 1 A5 0. 1A 0. 1 A3
14 |4 i 1t 174 F#| mg/L 0.0002A47if 0.0002 A7k 0.0002 A 0.0002 A7t 0.0002 A7 0.0002 A3
15 |1,4- v 7+ ¥ VA >| mg/L 0.005ATi5 0.005 A i 0.005 A i 0.005 A i 0.005 A i 0.005 A i
6 2 D L Y me/l | 0.0045ki 00045k 00047 00045k 000457 00047
17l 7 = 2 A & | mg/L 0.002 A7 0.002A4ii 0.002 A7 0.002A7ifi 0.002 A i 0.002 A3
87 ~ 3 7 v v = F L v mg/l 0.001 A i 0.00 1A 0.001 A7 0.001 A5 0.00 1A 0.001 A7
9k v 7 v v = F L v mg/l 0.001 A7 0.001 A 0.001 At 0.001 A 0.001 A 0.001 At
20 [= > v >| mg/L 0.001 A3 0.001 AT 0.001 A 0.001 A 0.00 1A 0.001 A3
21 ¥ F 2| mg/L — — — — — —
22 |7 = = e | mg/L — — — — — —
23 |7 =d =4 7N % 2| mg/L — — — — — —
24 |& = = E f#| mg/L — — — — — —
2%l 7 v = 7 o v X F | mg/L — — — — — —
26 | = = fi%| mg/L — — — — — —
211k~ U~ m A & | mg/L — — — — — —
28 |k ) 4 = = e 2| mg/L — — — — — —
2917 = = ¥ 7 o v X % | mg/L — — — — — —
30 |7 = * N JL 2| mg/L — — — — — —
31l v A5 7 2 F kB K| mg/L — — — — — —
20 H K 2 o 1k A& W meg/lL 0.05 A 0.05A7 0.05 A5 0.05A 0.05A7 0.05 A7
BT V=0 A K TE O A B mg/L 0.04 0.02A it 0.02 A 0.02A i 0.02 i 0.02 i
Ml K O F o b A& | mg/L 0.09 0.03 A5 0.03 A 0.03 A 0.03 A 0.03 At
3B K = o b A | me/L 0.05 A 0.05A 0.05 A 0.05A7 0.05A7 0.05 AT
6| LU YA K E DAL A W me/l 5.1 5.9 8.4 6.9 7.2 7.4
37l v A v Kk W™ o A W mg/L 0.022 0.005 A4 0.005 A 0.005A7ifi 0.005 A 0.005 A3
38 |t 1k ¥ A 7+ | mg/L 5.0A 5.0A i 6.1 5.2 5.1 5.5
9P revvan, ~7 x>y n% (@ E)| mg/L 36 49 55 47 47 49
40 |7 % 7% = Y| mg/L 69 90 100 100 100 100
41,2 4 A& v Fom & M Al me/L 0.02A i 0.02 A7 0.02 At 0.02 A7 0.02 A3 0.02 A7
42 |~ = 7 2 3 >| mg/L 0.000001 0.00000 1 A 0.000001 i 0.000001 A5 0.000001 A 0.000001 i
4312 — A F v A4 Y R v F A — | mg/L | 0.000001 K 0.000001 it 0.000001 Aifi 0.000001 i 0.000001 it 0.000001 Aifi
44 1B 4 A v K om & P Al meg/L 0.005 A4l 0.005 A i 0.005 i 0.005A7ii 0.005 A i 0.005 A3
45 |7 e J — v JH| mg/L 0.0005 A1 0.0005 A5 0.0005 A 0.0005 A3 0.0005 A7 0.0005 A
4615 ¥ ®m ( TOC © & )| mg/L 1.1 0.3 0.4 0.4 0.4 0.4
47 |p H i 7.7 7.0 6.9 7.0 6.8 7.0
48 S — — — — — —
49 |5 & e B B B BEL BT B
50 |t |l E 3 IEST LA 1A i 1At 1At
51 | BE| B 1.7 0. 1A 0. 1R 0. 1 A3 0. 1Al 0. 1A
10H17H 1H9H 1H9H 1H9H 1H9H
Nl ( 7 1% oA ) 1 H BT s 7 mEn g Eayahcn
o M F 100mLH 3 0 0 0 0




